Exam Review

1. 

Which ratio gives the value of sin A for (ABC?
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2.

Find the slope of the straight line AB.
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3. 

Which value is equivalent to sin 45(?

4. 

If sin 40( = 
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, what is the value of x?

5.

What is the value of tan A?
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6. 

Find the length of x.

[image: image5.png]



7.

Find the measure of angle x.
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8. 

Find the measure of angle x.
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9.

Find the  length of x.
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10. 

If sin A = 0.7, what is the measure of (A if it is an acute angle?

11. 

If 
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 = tan 15(, what is the value of x? 

12.      

If cos 47( = 
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, what is the value of x?

13.  

What is the value of tan 75(?

14.

What is the value of sin A?
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15. 

What is the value of cos R?
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16.  

If cos p = 
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 and p is acute, then the measure of angle p is _________.

17. 

Find the  length of x.
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18.

What is the value of tan x? 
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19. 

Find, to the nearest degree, the measure of angle x.
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20. 

ABCD is a rectangle with AB = 15 cm and BC = 10 cm. What is the measure of (BAC to the nearest degree?
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21.

Find, to the nearest degree, the measure of angle x.
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22.

If a = 11.0 cm, and b = 9.0 cm, the measure of angle x, to the nearest degree, is _________.
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23. 

Find, to the nearest degree, the angle of inclination of a driveway with a slope of 1 : 15.

25. 

The value of x in the equation 
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= sin 25( is __________. Give an answer correct to one decimal place.

24. 

If tan A =
[image: image21.wmf]2
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, then the degree measure, correct to one decimal place, of acute angle A is ________.

25
In this diagram, (ABC is similar to (RQP. Find the length of QR.
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26
Find the length of x in this diagram.
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27
Find the length of x.
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28
Find the value of the second difference using the data in the following table.

	x
	1
	5
	9
	13
	17

	y
	0
	1
	4
	9
	16


29
Find the value of the second difference using the data in the following table.

	x
	1
	2
	3
	4
	5

	y
	1
	7
	17
	31
	49


30-
Find the value of the second difference using the data in the following table.

	x
	4
	8
	12
	16
	20

	y
	(4
	44
	124
	236
	380


1.

Find the zeros of the quadratic relation 
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2.

Find the zeros of the quadratic relation 
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3.

Find the zeros of the quadratic relation 
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4.

Find the zeros of the quadratic relation 
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5.

Find the zeros of the quadratic relation 
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6.

Find the zeros of the quadratic relation 
[image: image30.wmf]2

110

10

x

x

y

+

=

.

1.

Determine the zeros and the coordinates of the vertex of the following parabola.
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2.

Determine the zeros and the coordinates of the vertex of the following parabola.
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3.

Determine the zeros and the coordinates of the vertex of the following parabola.
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4.

Determine the equation of the axis of symmetry and the optimum value for the following parabola.
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5.

Determine the equation of the axis of symmetry and the optimum value for the following parabola.
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6.

Determine the equation of the axis of symmetry and the optimum value for the following parabola.
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7.

The zeros of a quadratic relation are 1 and 5. The relation has a minimum value of –1.

a) Sketch the graph of the quadratic relation.

b) Determine the value of the independent variable for which the minimum value occurs. 

8.

The following table shows a quadratic relationship.

	Time (s)
	1
	2
	3
	4
	5
	6

	Height (m) 
	0
	10
	15
	15
	10
	0


a) Sketch the graph of the relationship.

b) Determine the coordinates of the vertex and the equation of the axis of symmetry.

c) After how many seconds does the maximum height occur?

1.

Expand and simplify (x + 3)(x + 2).

2.

Expand and simplify (5x – 1)(x + 3).

3.

Expand and simplify (x – 2)(4x + 3).

4.

Expand and simplify (x + 3)(3x + 11).

5.

Expand and simplify –(3x – y)(x – 4y).

6.

Expand and simplify (x + 3)2.

7.

Expand and simplify (x – 5)2.

8.Factor


a)    x2 – x – 20



b) x2 +  22x  + 21

c)   x2   -   64



d)   49 - y2

       e) 
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f)
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1.
Find the volume and surface Area of each shape.
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b) [image: image40.png]



c) [image: image41.png]



d)
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